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used?
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A two proportion, two-sided significance test is
performed to compare medications to eliminate
toe jam. Researches want to increase the power of
the test and decide to use an < = 0.12 level of
significance instead of the standard o= 0.05.
What is the probability of a Type | error for this
larger significance level?
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X = number of powerboats registered
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those coming to a PCP’s office, 30% are
referred to specialists and 40% require lab
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Determine the probability that a visit to a

PCP’s office results in both lab work and
referral to a specialist.
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